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1. d(InGDP - InKg) ; £ EE%

obs 1269
R2C 0.22
HESTHARS | 1981-2007
E3 tiE
Constant 0.001 0.59
d(InKp - InKg)
*okk
—E¥E 01T 5. 0336 928
d(InL - InKg)
—EHET BIET B, 0543 1269
Okidum=d(InKp — InKg) -0.054 -0.21
Okidum=d(InL - InKg) 0.129 0.86

(&%) #x 1 WKETHE., ¥ SWKETHE. *: 100KETHE. ULTRL,
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2. Cpn/Yzfk; ;E&E LE A%

obs 1269
R2C 0.97
HESTHARS | 1981-2007
X tiE 3 tiE
da1980s 6.216 18.89 |*** dtiEE  |da1990s 6.629 19.91 [kkx
5.562 19.38 ¥k BEHE 6.010 19.93 sk
5.542 19.48 [*kk =EFE 6.055 19.96 |k
5.759 19.31 [#kk BHE 6.264 19.82 [k
5476 19.59 [k MEHE 6.024 20.19 [**x
5.374 19.27 [k W8 5.964 19.72 |*xx
5.610 19.16 [#%k =EE 6.166 19.72 [#k
5.433 19.24 [*kk R E 6.274 19.27 |*xx
5.286 19.27 [#x* HARE 6.130 19.29 [*%k
5.232 19.35 [#x* BES 6.112 19.27 [*%k
6.001 19.14 |*xx BEE 6.655 19.26 |**x*
5.909 19.25 [#%k FER 6.626 19.34 [#k
6.238 19.10 [#x* HAH 7.028 19.75 [*%k
6.133 19.24 |*kk HEIE 6.788 19.35 [#ok
5.720 19.30 [#** e 6.272 19.70 [*%k
5.198 18.64 |**x EWLE 5974 19.72 [*%k
5313 19.05 |*%¥% RINE 6.024 20.06 [*%*
5.061 18.72 [#xx* EHE 5.860 19.86 [***
4.755 19.14 [#kk IR 5.788 19.23 [k
5.301 19.15 [#x* ERE 6.179 19.37 [*%k
5.467 19.33 [k I 212 6.150 19.48 |***
5.729 19.18 [Hkk Fdrl 6.393 19.38 [k
6.128 19.27 |*%x EHE 6.740 19.63 |*xx
5.306 19.17 |sokx =58 6.099 19.42 |*xx
5.082 18.68 [*kk HEE 6.030 19.42 [*kk
5.410 18.77 |*** HERRF 6.286 19.54 |***
6.174 18.91 [#%k KB AF 6.845 19.68 [*ik
5.762 18.84 |#%k EER 6.583 19.43 [#k
5.201 18.83 %k =RE 6.053 19.41 |*xx
4.887 18.61 [#x* L E 5.867 19.44 %%k
4988 18.87 [##k BmE 5.725 19.62 [*%k
4975 18.66 |*** ERE 5.742 19.33 |*x*
5.454 18.79 |*¥x iE LI 6.163 19.52 |*xx
5.724 18.95 k% LER 6.326 19.53 |*xx
5.374 18.82 |%okx g 6.040 19.47 [*xk
5.191 18.93 |*** mEE 5732 19.51 |*x*
5.303 18.96 |*** FENE 5.873 19.51 [k
5.465 19.18 [*x* 218 5.990 19.61 [#dok
5.164 19.03 [k S8 5.736 19.62 |*xx
5.941 19.07 [#kk 1262 6519 19.78 [*kk
5215 19.42 |*¥* EEE 5.854 19.82 |*x*
5.446 19.38 |*** EilEE 6.019 19.92 [***
5.462 19.31 [#%k HEARE 6.140 19.91 [#dok
5.383 19.49 [#kk KRR 6.006 19.90 [*kk
5.391 19.69 [#x* =i 5.991 20.06 |**x*
5476 19.58 [#*x* BEREE 6.129 19.89 [*%k
5.134 18.02 |*** ShRE 5814 19.64 |*x*
Oldrate*da1980s 4.309 545 |*¥% JdtiBE | Oldrate*da1990s 0.369 212 |**
4.336 10.72 |*k* ®i 0.335 3.29 |x¥%
8.215 13.48 [*** =t 0.837 7.16 |*%*
5.900 10.17 [#kk JepE 0.299 2.21 |*%
6.536 10.81 |*k** &g 0.726 6.03 [*¥*
7.823 12.60 |*** bl 0.531 4.41 |xkk
5.328 10.89 [*** hE 0.423 3.15 [*¥%
4.600 8.65 |*** mE 0.624 4.55 |x*kx
4.653 9.89 |kkk Fuil 0.199 1.63
8.400 6.05 |*¥* SR 1.253 4.68 [x¥x
d(Oldrate)*da1980s -10.432 —3.68 [**¥* d(Oldrate)*da1990s -6.574 —4.80 |**¥%
RMedAD 0.462 4.00 |***
Cpn(=1)/Yzfk(-1) 0474 28.40 |*¥*
In(Yzfk) -0.383 —18.36 |***
ctax -0.325 —2.86 [*kk
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3. din(Ywhz); FrisE% (ERE®mMN + M ERRS (RED))

obs 1269
R2C 0.62
#EtHART | 1980-2007
EX tiE 3 tiE
da1980s 0.032 3.72 [#%x dbi#EE  |da1990s -0.004 -0.65
0.035 4.13 [*xx EHE -0.006 -1.11
0.037 4.32 |xx AFE -0.006 -1.00
0.040 4.63 [¥¥x B E 0.002 0.31
0.040 4.73 |*kk MHE -0.011 -1.98 [**
0.038 440 |xkk 2 -0.007 -1.27
0.034 3.93 [Hxx EEE -0.006 -0.97
0.055 6.29 [Hkx TR IR -0.001 -0.18
0.052 6.01 [*¥x AR 0.001 0.25
0.050 5.72 [*¥x BEEB 0.004 0.77
0.055 6.17 |Hkx BER -0.002 -0.41
0.059 6.59 [*k¥x FTER -0.004 -0.66
0.051 5.59 [*¥x E -0.005 -0.89
0.049 5.56 ¥k HZ)I[E 0.000 0.00
0.040 4.68 [*¥x L] 0.000 0.06
0.041 4.75 |¥%k =g -0.002 -0.37
0.035 4.08 [*xx e -0.002 -0.42
0.042 4.80 [#xx BHE -0.006 -1.07
0.046 5.08 |#¥x IS -0.003 -045
0.049 5.62 [*¥x EHE -0.002 -0.33
0.047 5.39 |*kk I B 12 -0.001 -0.19
0.046 5.16 |k FidiiLs -0.009 -1.56
0.048 5.44 |x¥x BHE -0.004 -0.77
0.042 4.76 |#¥x =5& -0.005 -0.80
0.048 5.29 [*¥x HER -0.001 -0.14
0.045 521 |*xk TRARRE -0.005 -0.86
0.044 5.12 [%kk KBRAF -0.011 -1.89 [*
0.038 432 [#xx EER 0.002 0.35
0.040 450 [*¥x ZpE 0.003 055
0.033 3.90 [*¥x FOFRLE -0.008 -1.40
0.034 3.97 [*kk BEmE -0.006 -1.11
0.032 371 [Hxx ERE -0.013 -2.17 [*x
0.039 441 |*kk i 1L -0.011 -1.83 [*
0.041 4.82 |r¥x LER -0.002 -0.33
0.032 3.76 [*%x wWOog -0.010 -1.67 |*
0.034 3.95 |¥xk EEE -0.011 -1.84 |*
0.042 496 [kxx F)1|18 -0.006 -1.07
0.035 4,09 [Hxx Py -0.006 -1.04
0.030 357 |Hkx SHME -0.004 -0.73
0.041 491 [*¥x EEE -0.011 -1.84 [
0.038 444 [¥xx EER -0.004 -0.72
0.032 3.75 |¥xx RIGE -0.012 -2.10 [**
0.037 4.27 |xx REAR -0.006 -1.10
0.038 442 |rxx AHE -0.006 -1.01
0.039 4.60 [*¥x ] -0.003 -0.60
0.036 4.23 [¥%x EREE -0.006 -1.05
0.041 4.65 [*¥x Pkl -0.002 -0.31
din(GDPn)*da1980s 0251 494 [*¥x din(GDPn)*da1990s 0.722 28.85 |%kk
d(Irate) 0.000 -0.27
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4. din(Ywh); Fr{SBI%(ER&EREN)

obs 1269

R2C 054

H#ESTHARY | 1981-2007
3 tE £ tiE

da1980s 0.033 3.98 [#kx dbi#EE  |da1990s 0.002 0.44
0.031 3.78 [#¥x EHE 0.005 094
0.039 4.75 [*¥¥x [TESC 0.001 0.21
0.041 4.89 |¥%k =S 0.008 1.35
0.038 4.65 [*#¥* MHE -0.005 -0.89
0.037 452 |xxx Wz 8 0.001 0.18
0.034 4.05 [*¥x BB 0.003 058
0.054 6.46 [*¥* RIHIE 0.005 0.89
0.056 6.69 [*¥x AR 0.010 1.75 |*
0.052 6.16 |%kk BEE 0012 2.18 |*%
0.060 6.93 [*xx BEE 0.005 0.90
0.062 7.16 [k FTER 0.001 0.18
0.050 5.78 [*¥x Ft 0.002 042
0.052 6.14 [*¥x )R 0.007 1.26
0.040 4.90 |¥%k Hing 0.008 1.45
0.044 5.28 |Hkx =g 0.004 0.76
0.037 4.42 [¥xx e 0.004 0.75
0.044 5.25 |#kx BHE 0.001 0.17
0.050 5.72 %k I 0.005 0.98
0.050 5.94 |k EHFE 0.004 0.76
0.051 6.09 [*xx I 28 0.006 1.08
0.048 5.69 |#kx B30 12 -0.001 -0.19
0.051 6.05 |k BHE 0.004 0.68
0.042 5.00 [*¥* =58 0.003 061
0.051 5.88 [H¥k HER 0.007 1.34
0.046 558 [*¥x BUERRT 0.003 055
0.043 5.17 [Hkx KR AT 0.001 0.17
0.039 4.68 [*¥xx EEE 0.007 1.19
0.042 4.87 [#¥x X 0.011 1.89 [*
0.035 4.28 |*¥x MFpLE -0.002 -0.27
0.030 3.59 [Hokx EmE 0.003 0.54
0.032 3.84 [*kxx SRE -0.004 -0.64
0.041 4.80 [#¥x RELE -0.002 -0.39
0.044 5.27 [*¥x LEE 0.004 0.77
0.033 3.97 [#¥x =1} -0.002 -0.40
0.040 4.85 [#xx mE e -0.002 -0.44
0.045 5.45 [xx BN 0.001 0.21
0.036 4.40 |xx 28 0.004 0.64
0.032 3.99 [*¥x S8 0.005 0.84
0.040 4.92 |xkk R 0.002 0.44
0.038 4.65 | ¥k EHEER 0.004 0.74
0.032 3.89 [Hkx RiFE -0.004 -0.66
0.035 421 [*xx BEAE 0.000 0.09
0.039 4.71 [*¥x AHE 0.002 0.39
0.041 497 [xkk HiFE 0.002 0.37
0.036 442 |x¥x EREE 0.001 0.22
0.045 5.20 [*¥x Pl 0.005 0.85
din(GDPn)*da1980s 0.191 3.90 [*kx din(GDPn)*da1990s 0586 24.40 [*x
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5. Ip/Kp(-1); &%

obs 842

R2C 091

HEEHEARY | 1990-2007
X tiE 38 tiE

Constant -0.028 -1.81 [* dLiEE  |db -0.001 -0.26

-0.021 -1.75 [* EHRE -0.008 251 [*%*
-0.084 -3.76 |*xk AFE -0.004 -1.34
-0.033 —3.51 |tk EiHE -0.014 —4.59 |%kk
-0.075 —4.17 [#xx MEHE -0.005 -1.71 |*
-0.082 —4.32 |*kk W8 -0.007 -2.22 |¥%
-0.087 —4.95 |*kk EEE -0.004 -1.34
-0.061 -5.39 %k R -0.008 -2.55 [**
-0.085 -5.74 [*xk AR -0.006 -2.17 [*x
-0.063 -5.29 [#xk BREER -0.006 -2.09 [*x
-0.052 —4.62 |¥kx HBEE -0.012 —-3.78 [¥*kx
-0.059 —4.59 |Hokk FTER -0.008 -2.46 |%k
-0.024 -1.67 [* R -0.005 -1.55
-0.044 —3.78 |k #/E)E -0.006 -2.04 [**
-0.042 -3.88 [#xx ] -0.007 -2.18 [*x
-0.054 —3.85 [#x* =8 -0.009 -3.04 [*xx
-0.069 —-5.12 |k RINE -0.009 -3.19 [#kk
-0.099 -7.36 [#k EHE -0.017 -5.26 [%kk
-0.056 —4.27 [#k WEIE -0.008 -2.73 [%kk
-0.118 —5.05 [*%* EHE -0.004 -1.27
-0.056 —3.89 [#xx It 5 15 -0.007 -2.38 [*x
-0.080 -5.15 [k Fdril -0.008 -2.90 |#okok
-0.087 —5.57 [skk EHNE -0.014 —-4.92 [¥¥%
-0.049 -2.64 [*xk =58 -0.003 -0.87
-0.035 -2.17 |k HER -0.007 —2.60 [*kk
-0.050 —4.59 |k¥x HERRT -0.011 -3.51 ¥k
-0.039 —4.13 [#kk KERAF -0.009 —2.74 [%x%
-0.052 —3.75 |#okk EER -0.005 -1.50
-0.021 -1.46 ZBR& 0.000 -0.06
-0.044 -1.50 MPLE 0.004 1.25
-0.036 —2.81 [*kk EHlE -0.008 -2.43 [*x
-0.058 -2.85 [#xx ERE -0.006 -1.94 |x
-0.050 -3.23 [k i | L1 -0.006 -1.81 [*
-0.044 -3.36 [#k LEER -0.008 -2.64 [%kk
-0.106 —4.62 [*xx =]} -0.003 -1.11
-0.056 -2.10 [*x e e -0.001 -0.46
-0.052 =317 [#xx I -0.005 -1.60
-0.045 —-3.01 [k RS -0.006 -2.03 [*%*
-0.029 -2.21 [*x S8 -0.007 -2.03 [**
-0.057 -2.81 [*k EEE -0.006 -1.71 |*
-0.034 —3.13 [#xk BB -0.005 -1.44
-0.020 -1.81 [* RIGE -0.007 —2.11 [*k
-0.047 —-3.92 |*kk HEARE -0.008 —-2.59 |skk
-0.073 -3.16 [#k AHE -0.009 -3.18 [%okk
-0.070 -2.34 [*x HIFE 0.002 055
-0.035 —3.12 [#xk EREE -0.009 -2.78 [#xx
-0.039 —2.40 [*x Pkl -0.005 -1.56
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E3 tiE

Kpprod 0.255 3.06 [*#xx dimE
0.268 3.81 [Hokx EHE
0599 4.36 | %%k EF2
0.312 579 [*xx A
0550 5.28 %%k MEHE
0584 5.38 %%k W2
0.669 5.83 |kkk BEE
0.456 6.65 | ¥k RS
0547 6.57 |*xk HAR
0418 6.35 |k HEER
0.326 5.49 %%k BER
0.426 5.99 |kkk FEE
0.183 2.87 |Hkx B
0.311 477 |*xx wE)IE
0.380 5.54 |%%k HimE
0435 449 ¥k =g
0.458 6.27 |*kk RINE
0.816 7.92 [Hxk BHE
0.405 5.83 [dkk ITET -
0778 5.49 %%k EHE
0.401 463 [*¥x I B2 1
0532 5.53 |k EEdrils
0.648 6.55 [*%k ZHE
0416 3.36 |*kk =)
0225 2.35 %ok R
0.333 6.61 [Hkx REBKT
0310 6.03 [Hkk KBRAF
0.403 5.09 |k EEE
0.186 251 [*x ZRE
0.368 1.60 FFRLE
0.300 4.13 [Hkk BmE
0461 3.62 |k ERE
0.390 3.58 |#kx EIED
0.351 4.19 |¥%k LER
0.909 5.01 |k wog
0471 266 [Hkk mEEE
0371 3.27 |k FINE
0.374 3.92 [*%x ZiEE
0.282 3.75 |kkk BHE
0.430 3.76 |kkx 1R
0.303 4.64 | ¥k EEE
0.253 3.67 |Hwk RIBE
0410 6.00 |**k EARE
0.591 412 |xk% KR
0.546 3.04 [*xx =
0319 5.24 [*¥k EREE
0.324 429 |¥%k R

EVD -0.0002 -0.06 dbigE
0.004 341 |k &=
0.007 6.60 ¥k =k
0.007 3.90 |k pld >
0.006 4.69 ¥k aakil
0.007 5.66 |**k plig-3
0.007 5.06 [*¥* FE
0.007 3.66 |k PO E
0.006 5.67 |k Ju
0.007 2.21 |#* R

Export/GDP 0.028 441 |Hokx

Ip(—1)/Kp(-2) 0524 23.92 [#3x

din(GDP — Export 0042 658 |k

+ Import)
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6. din(Export); F&#H B4k

obs 1140
R2C 0.34
#EtHART | 1983-2007
3 tiE
Constant 0.015 4.49 [*¥x
daAsia -0.024 —4.77 [#kk
daTR -0.055 —8.49 |¥kk
do -0018 —4.31 [#kk
DRGAR(-1)%da1980s LiEE 0.920 1.94 |*
4 0.795 427 [%rx
=K 1.653 7.77 [#x
JepE 0.788 265 |Fkk
eak:i 1.388 6.25 |Hokk
plig- 3 0.397 1.69 [*
fE 0.713 3.27 |kx%
it]ES] 0.865 3.57 |¥¥*
Ll 1.052 5.32 |#okx
by 1.095 2.30 [**
DRGAR(-1)*da1990s JLiEE 0.348 0.92
4 0.356 2.31 |**
=K 0277 2.19 [#x
dbpE 0.103 0.45
aak:i 0.193 1.13
plig- 3 0.306 1.71 [*
HE 0.346 1.95 [*
usfEs] 0.241 1.24
Jugl 0617 3.90 [#okx
Pl 0.198 0.52
worldmp*da1980s JtiEE -0.189 -0.76
=it 0.095 1.01
=K -0.163 -1.77 |*
dbpE 0.082 0.54
ook -0.203 -1.83 [*
plig 3 0.182 1.49
FE -0.063 -0.57
us]Es| -0.243 -1.96 [*k
bR -0.251 246 [**
Pl -0.349 -1.41
worldmp*da1990s JtisE 0.039 0.43
w=it 0.110 2.97 [#¥x
=K 0.031 0.89
dbpE 0.038 0.71
h 0.136 3.25 [Fokk
plig- 3 0.017 0.43
HE 0.038 0.90
us]Es| 0.034 0.73
Ll 0.039 1.06
bl -0018 -0.20
EQXR 2E{E 0.392 7.52 [k
din(Rexrate) L EE -0.008 -0.55
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7. din(import); #5& A RS%L

obs 1182
R2C 0.29
HESTHARY | 1982-2007
£ tiE
Constant 0.003 216 [**
din(GDP)*da1980s dLiEE 0.872 2.28 [**
®it 1.099 7.94 |*¥x
=k 1.045 11.59 [#kx
JepE 1.269 6.88 | ¥k
ook 0.993 8.14 [#%k
plik 0.961 7.21 [#x
hE 0.437 3.62 |%kk
it]ES] 0.768 4.26 |¥¥%
L 1.030 6.58 |*F¥*
plih -0.100 -0.36
din(GDP)*da1990s dLiEE 1.114 2.82 [%kk
it 0.793 7.36 |**x
=k 0718 7.04 [#xk
Eld 0.268 1.77 [*
AR 0.870 6.68 [#¥*
blig. 5 0.609 5.82 |*¥*
f[E 0.732 5.44 [*¥x
ruE 0.081 0.61
Fu 0.952 9.20 |*k*
Pk 1.173 297 |k
EQMR £EE 0.204 3.51 [*%k
din(Rexrate(-1)) 2 E{E 0.026 212 [*x
8. Kp; REIEEEARRMYIEHK
obs 27
R2C 1.00
H#ESTHARY | 1981-2007
£ tfiE
[s, 0042 17.06 [#k
MR
Kp=(1-8 ) * Kp(-1) +Ip
9. Kg; HEREARRMYYES
obs 27
R2C 1.00
H#ESTHARY | 1981-2007
B tiE
[s, 0026 1259 [+
MHERT

Ke=(1-8,) * Ke(-1) +Ig
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